



次の計算をしましょう。

(1) $1218.48 - 626.49$ (2) $223.46 + 2988.692$

$$\begin{array}{r} 1218.48 \\ - 626.49 \\ \hline 591.99 \end{array}$$

$$\begin{array}{r} 223.46 \\ + 2988.692 \\ \hline 3212.152 \end{array}$$

(3) $4687.62 - 2320.802$ (4) $420.032 - 183.246$

$$\begin{array}{r} 4687.62 \\ - 2320.802 \\ \hline 2366.818 \end{array}$$

$$\begin{array}{r} 420.032 \\ - 183.246 \\ \hline 236.786 \end{array}$$

(5) $3800.23 - 1982.88$ (6) $0.3182 - 0.25403$

$$\begin{array}{r} 3800.23 \\ - 1982.88 \\ \hline 1817.35 \end{array}$$

$$\begin{array}{r} 0.3182 \\ - 0.25403 \\ \hline 0.06417 \end{array}$$

